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Question Number : 1 Question Id : 5244764901 Display Question Number : Yes Is Question Mandatory : No Calculator

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who was the supporter of Naturalism in Education?

3)(25595‘5 RREP(IS GATEH JDHW?

Options :

1. Froebel
De3e5

2. Armstrong
es8) Fof
&

2.8

: None Response



3. John Locke

. 2D er§
4. Rosseau.
., B

Question Number : 2 Question Id : 5244764902 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Curriculum means. . ..
EOLO0D) 9dTP?
Options :

1. A child learns through curriculum
208 DYTCD FTHOTO TPT° DEONEI0LFED

1. ®
2. Sum total of the annual study
T°QS 9E{AiO0 Q0G0
2. % &
3. Sum total of the activities of a school
FETRO TESerTrL Ao
3. %
4. Indicates the course to be taught by the teachers to the students
throughout the year
D0 TEDT S TOI0RD Do) 5 BoTdyD Eoy
PR AT ST
4.9 =

Question Number : 3 Question Id : 5244764903 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which system of education was propounded by Mahatma Gandhi?
ST, TPod ) Jof DT VAT OTTE?

Options :

1. Teaching by activities
S[SerTr IO 'G5

1. ®

2. Teaching through music
Lofedo (o eS° Botdo

2. ®

3. Teaching through listening, meditation etc.
Do, TR§Ho DETH T TO° €5 Boddcéo.

38



4. All of these.
:.gabf)&.

4.

Question Number : 4 Question Id : 5244764904 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who raised the slogan “Back to Nature™?
"e§ 0 JeIG" R ATTPR) DD THOIGESD?
Options :
1. Realism

123 TS
2. Pragmatism
SterelelcNls s Al
2. ®
3. Naturalism
QPRS0
3.

4. Existentialism

VBT D0
4. 8

Question Number : 5 Question Id : 5244764905 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A creative learner refers to one who 1s
DYRTAYE 02RO S &0l VLA

Options :

1. wvery talented in drawing and painting
GPa00H S0803L Dootohes’ erer HALTHBIED

1. 8
2. highly intelligent
wdjoss 39D
2. %
3. capable of scoring consistently good marks i tests
0g " DB 2o DR en FOoBHR 00
3. % '

4. good at lateral thinking and problem solving
Fye e5e5°3530 BN WA 0BT BoS” By

4.



Question Number : 6 Question Id : 5244764906 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Individual leamners differ from each other in
358 11e3 92 RN 2.EBEER ) DS DY o Eored?

Options :

1. principles of growth and development
DEADEL OB DG LDFTEeD

2. rate of development
9.9?:)55&% Bew

2. ¢

3. sequence of development
D20 G0

3 8
4. general capacity for development
989y’ Frerser PG 0
4. % @ ®

Question Number : 7 Question Id : 5244764907 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Self-regulation' of learners refers to
ETFOLV ?osoi;-ﬁcmogca’m DO LFDE?
Options :

1. their ability to monitor their own learning

T8 Do @@5&3& ;305;55055 0G0

1LV ®
2. creating regulations for student behaviour
DTPQ DHGHL VerocdR0 ErTobowstio
2. % ;
3. rules and regulations made by the student body
D8 o0 ErToeRd JoDATLD B3N DeoEeN
3.8 -
4. self-discipline and control
DA §20IEes S0BAtL Daoghes
4. %

Question Number : 8 Question Id : 5244764908 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The main purpose of assessment should be
B0TPeR{0E00 AVE); VEPD EB33[0 JO° 0O ?



Options :

1. to point out the errors of the learners
e92fROSR SO I BrDEo

1. ®
2. to measure the achievement of learners
@ayzg;be‘aw i)a,o:ijoe‘l)‘l Sededd
2. ®
3. to decide if a student should be promoted to the next class
DTgB SO SIS KRS Boirer HFF @ Agawosdtio
3.8 '

4. to diagnose and remedy gaps mn learning
2923008 oSBT VR JTBoLitio SOBAKD DBY Botitio

4.

Question Number : 9 Question Id : 5244764909 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s not an appropriate tool for Formative Assessment?
FTLAD 50020t E0 S0 THS” DB XWJH B0 S°?

Options :

1. Assignment

XS Nelels
1% 2
2. Oral questions
ST DE DB e
2. ®
3. Term test
&8, 83
3¢ i
4. Quiz and games
ései Feblalonth) F"BEDD
4. %

Question Number : 10 Question Id : 5244764910 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to NCF, 2005, the role of a teacher has to be:
NCF, 2005 Os°0o. &erjosnd ¢ @er eod:

Options :

1. Authoritative
(Dla)=glelS



2. Dictatorial
oS0

3. Permissive
- 900063

4. facilitative
AWeEesdo

Question Number : 11 Question Id : 5244764911 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can enhance effective learning in her elementary classroom by:
208 BIPTPHOIVED B FHE BOFA AOS” DIVGDOBRD 9ePFIY

D TR0 DOCOMDDGIDON:
Options :

1. offering rewards for small steps i leaming
SE\EDc0dS” DDy SFOL LTVDIBOLD Wodorstio

1. ®
2. dnll and practice
G5 Sdain e.oaygrfac
2. ®
3. encouraging competition amongst students
Depggorr Do6s5 TS Tedyirodcio
3. % =
4. connecting the content to the lives of the students
DET§Gow BATPOL EoB0t5 £DF Bocio
4.9 :

Question Number : 12 Question Id : 5244764912 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to Jean Piaget, schema building occurs as a result of modifying new
information to fit existing schemes and by modifying old schemes as per new
information. These two processes are known as:

B HarBE Pseo, V) AT Dok ©IB FDVOE &) ) Do

20T cher E¢ Dareroed) Dddoitio 803 Y DATErto VEGo
TS DESOR DDBoIEo TPIT° IBYEDB0H. & Bocd HEaen
Q0D e90EPE?

Options :



1. accommeodation and adaptation
HVB SOOI L9ADGEI

1. ®
2. assimilation and adaptation
L. P 8050 A
3. equilibration and modification
- ‘r’ocﬁJeTE'_JzSel‘B PeblolenbbiRNPulel
4. assimilation and accommodation
L QS0 ek HdS
4. ¥

Question Number : 13 Question Id : 5244764913 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Students of disadvantaged groups should be taught along with the normal students. It
umplies
FTro DojRRd Jren DIVEED ST JTrjdesd &5°Gozed. ad

B AFPDH?
Options :

1. Inclusive Education

200 Desg
1L¢
2. Special Education
. 088 s
3. Integrated Education
. QoFSE cl)c‘,.)iséi.’qé
4. Exclusive Education
DENETD DA
4, %

Question Number : 14 Question Id : 5244764914 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Deficiency in the ability to write, associated with impaired handwriting, 1s a symptom of

oD %ﬂcﬁ}géoé‘ 550, LIOEPIPD BT o060 EDA Eotnod.

2O B g0?

Options :



1. Dysgraphia

Graair
1Lv ~
2. Dyspraxia
e GRRew
3. Dyscalculia
G o) Do
A e
4. Dyslexia
GRS yosr
4.8

Question Number : 15 Question Id : 5244764915 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The nature-nurture debate refers to
DEyB-2oDEo BBy DI WP
Options :
1. genetics and environiment
2AFR0 OO DT°JHGE0

1. ¥
2. behaviour and environment
VOGO DO DTRDHGE0
2. %
3. environment and biology
DTG0 S0BOID BOFRo
3. % =
4. environment and upbringing
DT°J0E30 20OO3D oS
4.%

Question Number : 16 Question Id : 5244764916 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who developed the first Intelligence test?
DG REBIBO DOL DD WDBB FF°C0?
Options :
1. David Wechsler
GDE Do



I~

Alfred Binet
e_eej’bci DS

2.¢

3. Charles Edward Spearman
PR (S yoEITD
3% W o

4. Robert Sternberg
ored 26y 026
e & 0

Question Number : 17 Question Id : 5244764917 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Phonological awareness refers to the ability to
D Ter2EeS TR 920 oDy AFDROR?
Options :

1. reflect and manipulate the sound structure
B AT7YEE) BDoDotitio DOATL ATGy&o

1. ¢
2. speak fluently and accurately
RDEFOTT 20BAKD PIBOTT ATEFEo
2. %
3. know, understand and write
B RO, do BwE Do BT grabdiio
3. % E
4. master the rules of grammar
T5E6e DabATRD DL Fdowco
4. %

Question Number : 18 Question Id : 5244764918 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Deductive reasoning involves
&(‘.‘,%5 5°0),So QDD &dA &otod?
Options :
1. reasoning from general to particular
o Aod PP =°8) Co

2. reasoning from particular to general
DR Aol FTeoes 6L T8 o



3. active construction and reconstruction of knowledge
Zrdo g SoirFe o700 SOOI 3DHB) T 0

4. methods including inquiry learning and heuristics
D038 G6) off Ak IPTFOREE 08 DY

4.%

Question Number : 19 Question Id : 5244764919 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Howard Gardner's theory of multiple intelligences emphasizes
Ford mEDHE g exToY 38Ddwe drodo 3ID I

Qe0eos?

Options :
1. general intelligence
FTrOE DOCROY

1. ®
2. common abilities required in school
FETOS’ ODERD FTeEed éﬂmgaw
2. %
3. the unique abilities of each individual
OB D18 g PBLE FaTe e
= r = fea) 5
3.
4. conditioning skills in students
De5rees” ocadoh Pipewien
4. % -

Question Number : 20 Question Id : 5244764920 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Learning Disability
DENED 5700 w0

Options :

1. 1s a stable state

EDD D

. ® PR
2. 1s a variable state

28 odaienes ?ge‘_'a

2.¢

3. need not impair functioning
DAAEDD BeNBADHOVD BG0 S



4. does not improve with appropriate input
SO0 BDNES DEAIDEED

4. %

Question Number : 21 Question Id : 5244764921 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Socialization 1s
FoOSESED 9D
Options :
1. Rapport between teacher and taught
D) H0BA%0 E5°GD B DSyoLITTeD

1. ®
2. Process of modernization of society
. Ddrae AN eS80 HEaD
2.
3. Adaptation of social norms
. FArEE DL IRDGE
3 v
4. Change 1n social norms
FarRE Devogdees” ATy
4. ®

Question Number : 22 Question Id : 5244764922 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the first step n the scientific method ot problem-solving?
20BTBS” DAY DO TS DoeGEDD FTHODL DGHBS® 26
9O DO?
Options :

1. Problem awareness
‘rbm‘:bg RHOTTPIP )

1. ¢

2. Collection of relevant information
. 208)008% DATTPS DESE

3. Formation of hypothesis
» Q@SUDF\'J 033052, bmés'ao

4. Veritfication of hypothesis
DOEND TR0E), GAEGE

4.%



Question Number : 23 Question Id : 5244764923 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

School-based assessment 1s primarily based on the principle that
FETR TTOS DTS00 FEIEOTT ) AP0 BTEEDC
€0od?

Options :

1. students should at all costs get high grades
TR0 ) DENLD TLm &S FEOR Tored

1. 8
2. schools are more efficient than external bodies of examination
DOLL ey VoRO Soff FEFTVRD 2o VAVGDoBrP DIV W
2. % ' '
3. assessment should be very economical
e90tIT® ToeT S EVNT &okd
3.8
4. teachers know their learners' capabilities better than external examiners
EPTTIOIDOE) B 9FFOLR bvmgﬁw e3s35 DOLL0 S0 erTe B
4.9 :

Question Number : 24 Question Id : 5244764924 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher, after preparing a question paper, checks whether the questions test specific
testing objectives. He 1s concerned primarily about the question paper's
2,8 eaﬂmzso:incb, 2,8 bégdebavb; D0 DD e‘.‘éU"Se‘_‘é, XJ“S‘&ED )

= = 0 e Qe

088 wFO HDOIFAr GE SID BP. BB YT

D) DBo AN D VLD HBOD VD BoTPE?
Options :
1. typology of questions

oo 8Ferd

1. ®
2. reliability
DFLRAADES
2. %
3. validity
WEVEIPEL
3. % £

4. content coverage
o305 €535

4.



Question Number : 25 Question Id : 5244764925 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

URL stands for
URL e90€3?
Options :
1. Umversal Resource Location

AP eS\e5 BIEEN Dedo
D AR

2. Umiversal Response Locator

OTPDHIGe5 BNy 5°Eed
) % &) B, g
3. Unified Response Location
CRPIPE By SERD
3. %
4. Uniform Resource Locator
Ao 6‘.3553 5°2eb
4.9

Question Number : 26 Question Id : 5244764926 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A computer network which is used within a building 1s called:
25%0¢" GOSN Eoyd BHE)D DD eotrdd?

Options :
1. WAN
1. %
. 2. MAN
3. LAN
3.9
4. SAN
4. %

Question Number : 27 Question Id : 5244764927 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A byte consists of how many bits?

28 BES" Iy Debew esotran?
Options :

1. 16

1. ®



2. %

3. 2
3 8

4. 8
4. ¢

Question Number : 28 Question Id : 5244764928 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an input device?
306 TN’ DN HBEGo VA?

Options :
1. CRT Monitor
i CRT a5dexb
1.
2. Speaker
5
. cODQS
3. Printer
. Dotrd
3. =

4. Keyboard
&5

Question Number : 29 Question Id : 5244764929 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

CALI stands for
CAT eocdtre?
Options :

1. Computer Analysed Instruction
50@5@5 DFOILICR DTS

1. 8

-9

Computer Assisted Instruction
SoRryrd VRE ANRES

2.9

3. Computer Assisted Interview
SoRr(d P& faoeadrlsé



4. Computer Analysed Interview
So?’.gjt;geJS D?a’qwéés ’EO&JC‘J’BB

Question Number : 30 Question Id : 5244764930 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An extensive number of chains interlinked in an ecosystem forms a
together.
DOD6E HIDS” 2ETAE 2,660 VRIS ED BIE Feniven

&9 D B\BOFow.

Options :

1. Food chain
295355 Y00

1. ®
2. Food web
033356 D&
2. ¥
3. Carbon cycle
SNSRI
3 8
4. Nitrogen cycle
_ ®ged sso
4.

Question Number : 31 Question Id : 5244764931 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these days 1s celebrated in the form of World Environment Day all around
the world?

DDEBTROM VDo DTHGER SIS Do &0 D Fares’

23,605 E08°50?

Options :

1. July 5™

w'g 5
1%
2. Tune 10%
- a2 10

3. October 20™
@g 226 20

3. %



4. Tune 5T

2O 5

Question Number : 32 Question Id : 5244764932 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these layers of the atmosphere consists of the ozone layer that 1s responsible
for absorbing the Ultra-Violet (UV) light?
er-25E (UV) 9080 (Rrouseeds ere(s Hirod £8'S FPoxw <9

&) TTOOE0 4 e RATAYS

Options :
1. Troposphere
5P \06
1. ® = Q\J
2. Mesosphere
20F0ya06
2.¢
3. Stratosphere
eS® e8508a00
3% e
4. None of these
DOS* D& Sew
4. ®

Question Number : 33 Question Id : 5244764933 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The species restricted to be present in one region are called
28 TPottoeS” oot DONBo BADLED PR DD IoTE?

Options :
1. Edge species
e90T) APV

2. Endemic species
IS o

2.¢

ad

Endangered species
903800 Y 2P

3 8



4. Keystone species
é‘;}ﬁ% T SN

4. %

Question Number : 34 Question Id : 5244764934 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term ‘Environment’ has been derived from the French word which means to
encircle or surround
Eeleyitelel:cl) 29 D0 Pod Do Nod &cﬁabo&oé, & @do ad

n:fs:)g.ax!“ Gotitio?

Options :
1. Environ
ZJU"ZSDGB'BO
1.9
2. Oikos
-
Lw 20ED
3. Geo
- 2037
4. Aqua
es5e
e S

Question Number : 35 Question Id : 5244764935 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sustainable development means
R0V 9DDHR v ?
Options :
I. meeting present needs without compromising on future needs
SIS VIHVTVP T DELIE VRO WDITOR S6 o

1. %
2. progress of human beings
. QDD DB D
3. balance between human needs and the ability of earth to provide the resources
QPO 9HTELL SOOI HIDVRD 9o HITPaD %f’mgﬁo Q0G] DBOLS
3. '

4. all of the above

DAY

4. %



Question Number : 36 Question Id : 5244764936 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The adverse effect of modern agriculture 1s
&360DE $[OJ oMo TE), PAETV Perdo?

Options :
1. Water pollution
. DS SIORSI
2. Soil degradation
Do) Scaeh
2.9
3. Water logging
D& erhoh
3.8
4. All of the above
2898
4, ® = Q’

Question Number : 37 Question Id : 5244764937 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Primary source of energy in a food web 1s/are
360 De5S° 3¢ ), FRE e
Options :
1. Green plants
RSN DVE) O

1. ®
2. Sun
mcb?gcia
2.
3. Inorganic nutrients
. WECND Daseen
4. Animals
2088060)80
4. ®

Question Number : 38 Question Id : 5244764938 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Energy tlow in an ecosystem is
DT(OBE DD’ 3§ VITT0 VRVIG?
Options :
1. Bidirectional

. ésé?éés
2. Umnidirectional
bséwa&g
2. %
3. Multidirectional
20OEBEDS
3.V 0=
4. All rounds
0\ G0t
4. 8 Al B

Question Number : 39 Question Id : 5244764939 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which year was the Ministry of Women and Child Development established as a
department under the Ministry of Human Resource Development?
2 R0 BoeS" @IPwe S0B05L 30 WDHB HoBB] TY AFID

DOGR DD 0B T DOOSD T Jo°yHod?

Options :
o, L1980
2. 1986
2.
3. 1985
3. ¢
Lo 4 1988

Question Number : 40 Question Id : 5244764940 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kasturba Gandhi Vidyalaya Scheme 1s related with:
STy TPod Dorgoadd DESo BAS DoeIRODIO:

Options :
1. Primary education

FAE D



2. Secondary education

» SRS D

3. Higher education
- &KD}S DCﬁzS

4. All of the above
. DAY

Question Number : 41 Question Id : 5244764941 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The formal agency of socialization 1s
Frod08E6er IS, OOTOE DBN?
Options :

1. Famuily

=SIAITATe)

1. ®

2. School
» ST

3. Peer
- 6

4. Neighbourhood
L TS Froeso

Question Number : 42 Question Id : 5244764942 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Education should proceed from simple to complex and from concrete to abstract. This 1s
the method of teaching in
Desg G Aol @oé@pﬁo mao:in A0S Aol Dadwgorr EHIrd.

Qb S° e5° B0 DGA.

Options :
1. Idealism
e.adcﬁ;,avcf)o

2. Realism

TN
2.



3. Essentialism
9335%75593

4. none of these

HReS® DA Feo

4. %

Question Number : 43 Question Id : 5244764943 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the purpose of formative evaluation?
Do EP) € S0rerjosdo B0E), &B30 J?
&
Options :

1. Check the final status
00 DA D Sabco

1. %
2. Promotion to next grade
. BE0DO BGANS LA
2.
3. Selecting students
DePyErend docfdeio
3 8 @
4. Monitoring progress of students
Degor DEEAY DOgDI.ouscio
4.9 '

Question Number : 44 Question Id : 5244764944 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who presented the formula to determine 1.Q?
LQ Q QPanostrds Drgr) DOt D8\ oeth?

Options :
1. Terman
So°) O
1. #® é
2. Stern
A NAFSVIN
)

3. Gulford
ﬁ?jéhé
J&



4. Alfred Binet
939335. DD

Question Number : 45 Question Id : 5244764945 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The planned interview is called
R DO ROOETE D DL 90ed?

Options :
1. Structural interview
bovécavefaéé "QoéJdJ‘SB

R
2. Focused mterview
F
TR RO
2. %
3. Panel interview
.5132)95 @c’é‘)dyﬁg
3 8

4. Group interview
(D faoeady;s

4. %

Question Number : 46 Question Id : 5244764946 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which scale 1s used for attitude measurement?
228 Eodrrdd 2 ) S &dIrAoexdB00?

Options :

1. Projective scale

. @"2%5 ?02565
2. Likert scale
a6 ?0&6
2V vt

3. Ordinal scale
aga‘)ﬁ ?obe'i'



4. Technical scale

FoBNE .g‘O_‘D

4.%

Question Number : 47 Question Id : 5244764947 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the cognitive domain the lowest level of learning
9&@&5 E056e5° (SN o e923°{R0
= @
Options :

1. Synthesis

PDoE
1. % =
2. Knowledge
o)
2.¢ -
3. Application
09280
3.8 i
4. Comprehension
(reazs
4. ®

Question Number : 48 Question Id : 5244764948 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

High and low achievers are mostly sorted out by
A)SJZT.;E SElelen iRl ES RS FEODDTE e gmwgééoamczwda?

Options :
1. Effectiveness of distracters
EFES Derdo

1. 8
2. Facility index
€650 TS
2. %
3. Discrimination power
L Dose s
3

4. All of the above
R



Question Number : 49 Question Id : 5244764949 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The standard error of measurement is basically a measure of
Fod ang) Farss 6700 TS BID 3DoHERH?

Options :

1. Central tendency

. Bog Boed
2. Varnability
D0
2. W
3. Association
. e DADND

4. Location

o
o

Question Number : 50 Question Id : 5244764950 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The intellectual skills are generally reflected by
208 DETgRn FTeoreT B TrTP ADDIFTaN?
Options :

1. Affective domamn
DETOD0SHOD EDR

[

Psychomotor domain
806 E0

3. Cognitive domain

o0 8 200
3. ¥
4. None of the above
. 2D TP

Question Number : 51 Question Id : 5244764951 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Split Half method 1s generally used to estimate
R 8D DEBV Ferdesor BIN o Do &OBFAFD?

Options :



1. Validity

WL
1. % i
2. Usability
L DA
2.
3. Objectivity
e23 N
3 % e
4. Reliability
DFLRADS
4.

Question Number : 52 Question Id : 5244764952 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The value that divides the data into two equal parts 1s basically called
CLeTP0 B0t DRATPD 2T D230t DR FPEAECTP DD

e90e3P3 7

Options :

1. Median

2005g

1. :

2. Mean deviation

. DR DDo

2.

3. Mean
» MBS

4. Mode
ArE

4. %

Question Number : 53 Question Id : 5244764953 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Sociology was coined by
QP08 9D DI DD WyRoEE?
Options :
1. Herbert Spencer
?:.J“dag 1‘.)3&‘)35



2. Auguste comte

e3(52) ToaD
2. ¢ B
3. Karl Marx
) S°§ ME&D
3.
4. Durkhein
déb&
4. %

Question Number : 54 Question Id : 5244764954 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social mobility can be
FPAFRE SVDIVS e EotIIN?

Options :
1. Vertical
Q)

1. ®

2. Horizontal

. £ DIAToSS
3. Both (1) & (2)
- Socir (1) & (2)

4. None of these

HAS® DA Feo

Question Number : 55 Question Id : 5244764955 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The acquisition of foreign culture by the subject people is called
DB Drgren DB 2o B Tocitio A0 DD WotTtd?

Options :
1. Subjectisation
@Q%é@é
1. ® s
2. Assimilation
9T NID



3. Colonisation

bﬁ)‘rbo"a?go
3 8
4. Acculturation
20dHEses
4.

Question Number : 56 Question Id : 5244764956 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Birds of the same feather flock together” refers to the 1dea of a socialising process
known as
"8 &8 DL DD HFa" IO FoSEe HIAL VL), D S BIW
20067
Options :

1. TImtation
9S00

2. Suggestion

P S S5

3. Identification
3. BEeR

4. Sympathy
Le TR0Trd

Question Number : 57 Question Id : 5244764957 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Education provided to the child by the schools 1s
FETOO PO DYOE DY VOLOTIRICEE D

Options :

1. Formal

(Dlni=slelS
1.
2. Informal
- 9 0HTROS

3. Highly standardized
9e3{08) FAFBEZOIO



4. Traditional
oD

4.%

Question Number : 58 Question Id : 5244764958 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The chairman of National Human Rights Commission was appointed by
2PAODH DPOD LY © SR DELOW D DAHAFE?
Options :
1. Prime Mmister

DD 2008
1. ®
2. President of India
&G TS
2. ~
3. Supreme Court Chief Justice
AR0E' HEPD THEDTY
3. % =
4. None of these
Le 088 D6 S

Question Number : 59 Question Id : 5244764959 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The headquarters of UNICEF is in
UNICEF cog); 9570 sPoejocio o) ¢ €od?

Options :
1. New York
SAoeco3e6
» 39
2. Paris
0D
2. ®
3. @Geneva
SHee
3 8
4. Rome
S0



Question Number : 60 Question Id : 5244764960 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who coined the term ‘Genocide’?
2oy hdﬁé@a‘)' 09D :Jcsnf()& DG EDABrRoTedd?

Options :

1. Raphael Lemkin
7S TR

1.

2. Eleanor Roosevelt

QD035 wébg

2. %8
3. P Thornberry
25 WS&EB@
3. 8
4. Jafferson
EEPKJGJEJ
4. %

Question Number : 61 Question Id : 5244764961 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Successful inclusion requires the following except
D220DDOBRD EFEdY € & SDYD DO ©SVC0?
Options :
1. Segregation
QLR

2. mvolvement of parents
5900 Daoado

2. %
3. capacity building
F0G 0 B
. ggo B0

4. sensitisation
@3&6@50

4. %

Question Number : 62 Question Id : 5244764962 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



A very popular model for the psychomotor domain was established by
206 E0d o Trer H2rE6es Todd DS A0 JOW

AP oTeE) ?
Options :
1. Krathwohl
. 8IS
1.
, v 2. RH.Dave

3. Lorin Anderson

S5°6S €90C6YO
3 08
4. Benjamin Bloom
Bo2aDD %)1.7"53
4, %

Question Number : 63 Question Id : 5244764963 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rubrics are important because --------
dJ“@é:l DRI DotEoEs -------
Options :
1. It helps teacher to learn
Q0 B8 EN\E DI DBFODHDEHIE

1. ®
2. Rubrics help parents to learn the progress of the student
Dog8 DTS BewinEHrdE BB BrdEy RiFaio
WA
2.8

3. It help coordinate instruction & assessment
R0 ATSIV & HrerieETry DD Ao Soteiod”

Lo RIFADOESE

4. (1)and (2)
(1) 208050 (2)

4.%

Question Number : 64 Question Id : 5244764964 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The cratt work should be included in curriculum according to Na1 Talim 1s
D &80 P5°00 $08 I TR D6 X0 FojeTS o d?
Options :

1. Agriculture

2§00
1. ®
2. Any Handicraft
DR STFEY
2. ®
3. Carpentry
Pelatela
3. % s
4. All of the above
25
4.9 £or

Question Number : 65 Question Id : 5244764965 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

New model in the beginning of the 1990s of economic reforms is commonly known as
the LPG which means
1990e> Jrcozsoes® ZIERSTIONCLS ey A5 Froesesore LPG

e90¢3*0. LPG eocdte?
Options :

1. long public goal model

erof HDE HS i

1. ®
2. Liquetied petroleum gas model
GDE,8 DE DA TR ArceSs
2. ®
3. Liberalisation. Personalisation and Globalisation model
. 26DE0. HIEABEGER B0 HHOVEE DT
3.
4. Liberalisation. Privatisation and Globalisation model
2EDESE, DDBEGE SOOI VDODEGE DIV
4.9 ~

Question Number : 66 Question Id : 5244764966 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is not a type of objective types of tests?
300 DS DO 5BED DL BSo SPE?

Options :
1. Recall type
- Bsred G%o
2. Recognition type
. LB GSo
3. Multiple choice questions
DTVY JoDE OB en
3. 8%
4. Demonstration
@Cﬁd;?\')
4.9

Question Number : 67 Question Id : 5244764967 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A good teacher must be
o) DB e eotzd?

Options :

1. resourceful and autocratic
555::13336 S08030 DBoLrFore

1. ®
2. resourcetul and participative
6&’55&;336 Feblelontt wmaosméorw
2. )
3. resourceful and authoritative
mﬁmbbes S008I O GoTE
3 8 3
4. resourcetful and dominant
G‘Sﬁcbh;)e.'? 208050 IOV 0T
4. % :

Question Number : 68 Question Id : 5244764968 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most appropriate meaning of learning 1s
SN E Do NS ejoss 1D wdo

Options :



1. Acquusition of skills
QEDEFLR DO

1%
2. Modification of behaviour
PG CﬁJJQZT &‘.U“d.‘)b
2
3. Personal adjustment
D&0IS DYoeTeD
3.8 =
4. Inculcation of knowledge
aaa“f()‘l DoTobodEo
4.% ¥

Question Number : 69 Question Id : 5244764969 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

To make learning effective, a goal must be meaningful in terms of
92( P VDS BaDEEIS, ©E§0 O DO 9FDotorr

o ?

Options :

1. objectives of the curriculum
FTH0T VI[NV

1. ®
2. ntellectual 1deas
- 28 e3¢5’ 0D
3. standards of others
QBEL PATLTLY
3 8
4. the needs and purposes of students
Dwzggseu e9STPL SBAIL &gﬁvw
4.4 .

Question Number : 70 Question Id : 5244764970 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s the apex institution involved in the planned and coordinated development of

the teacher education system i the country.
DO B0 Groryah Doy H5HY M), VEFISLGROD

200010 DB BDBQSE" D) ) & DoR.

Options :



1. UGC

1. ®

2. NCERT
2. ®

3. NETE
3.¢

4. XSEED
4, %

Question Number : 71 Question Id : 5244764971 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Computer Assisted Instruction 1s based on principle
So‘égj“geJS @?0?85. @5@55 QATS0R eSTPEDE 00od?
Options :

1. Classical Conditioning
?55595 Eo0doh

2. Operant Conditioning
e3D000 Sodndoh

3. Pavlovian Conditioning

FI DD Sodndoh

3. %

4. Respondent Conditioning

a.avboa,oes ook

4. %

Question Number : 72 Question Id : 5244764972 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The amendment got "Fundamental Duties" added to the Constitution of India?
RDBE PGS Trarforrd "FEE Deven” Fdoswcod?

Options :
1. 422 Amendment
) 425 DHGE
1.
2. 54" Amendment
S 548 HdSea



3. 83 Amendment
8359 D56

4. 934 Amendment
935 DOGE

Question Number : 73 Question Id : 5244764973 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cause and effect relationships are studied by studies.
BS°0£0 VB0 2T VoLIOTIPLRD €OCSOORPRL 9E3[05R0
DFraw.
Options :
1. Clinical
e SRS
2. Comparative
BOVTBY S
2. 8

3. Developmental

3. % ?
4. Experimental
Qcﬁj"ﬁ“eﬁééo
4. &

Question Number : 74 Question Id : 5244764974 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
The use of text book in a class 1s
ABAAS” FEEDHT D BIS &DAPAFE?
Options :
1. to achieve leamning objectives
Q2L VTV FQoTEIS

1.¢

2. to delimit what 1s to be taught

e5°O0DIHND O AN Bocto

2. ®

3. to explain 1deas and concepts
e5e5°e50e0 HVOAL 2DV DDBoIETS



4. set new standards
£ Darrrody 2 Bodoed

Question Number : 75 Question Id : 5244764975 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Equalisation of educational opportunity is provided in of Indian
Constitution.
PO To§orioes’ D & DPOETIRR) L DATOSB0

290B 006,

Options :

1. Article 14
933995 14

1. 8

I~

Article 25
933995 25

2.8

3. Article 37

e308e5 37
&
38
4. Article 45
e30&e5 45
4. ¢ o

Question Number : 76 Question Id : 5244764976 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first central institute of Vocational Education was located in
AVEE Voyes «a:%mées €38 S80S Qc:ogééq.% ) &

%boé&)do& 7
Options :
1. Bhopal
SareS

2. Calcutta
soser

3. Coiumbatore
& asoercar



4. Mumbai
0083

4.%

Question Number : 77 Question Id : 5244764977 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

"National Policy on Education' 1986 was reviewed by ?
BRS 0D B8O IEOERS' 1986 D DD HWI0TPE?
Options :
1. Adiseshiah Committee
&R g

1. 8
2. Iswar Bhai Patel Committee
L. o306 e 085S e
3. Ramamurti Committee
TP £
3. ¢
4. Sampurnanand Committee
2ODTT N0 DS
4. % €

Question Number : 78 Question Id : 5244764978 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Education i the Vedic period was
D6 se00e DSy
Options :

1. Contined to the princely classes and Brahmins
(oihlol=NxTelalx SIS IPublelonth g‘@&moeﬁa QG DOB0H

1. 8
2. Given in Gurukulas by a sage
208 DG TPLTP (HXLEIRTVES RDEC00
2. =
3. Meant for the removal of inequality
. 008 Fohod) o &Fodercod
3.

4. Mostly in Sanskrit
DE). DT DOR) 0"



Question Number : 79 Question Id : 5244764979 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who developed the 'Cone of Experience'?.
TR 09D ENDBANDY' 0B DBy Saberdod?

Options :
1. Edgar Dale
=6 ES

2. Ponting Barry

- Fotdoh erd
3. Jeanne Clum
25 <5
3. w
4. Jereme Krusner
S30 go‘éaclf:
4,

Question Number : 80 Question Id : 5244764980 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dewey believed that classroomi1sa
CERIAI DSPEAD 8 SOIB OO:
Options :
1. Teacher — cantered
&TTy oI - S0y

1. ®
2. Child — cantered
3¢5 - BobE,
2. =G
3. Autonomous
“&5&1)0@933’3@
4. Disciplined
L S0IEE

Question Number : 81 Question Id : 5244764981 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Who reflects the true spirit of universalism and secularism
FOLBET G0 ALY TEET S0 g, VB0 T8 DO

DODDFE?
Options :

1. Swam Vivekananda

FD DS D0Cd
1. ®
2. Rabindranath Tagore
8Dod Tt
2.
3. Mahatma Gandhi
20358, Trod
38
4. John Dewey
P Crjaw
4. ®

Question Number : 82 Question Id : 5244764982 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

.............. colour regard as Masculine
.............. Sord BT DOHEE30ILICIE 0D

Options :
1. Blue
2. Black
- QY
3. Grey
g!
3 8
4. Yellow
DY)
4, %

Question Number : 83 Question Id : 5244764983 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social reformer who took initiative for the propagation of widow remarriage
DBoBL QYDO(TFO PEPTZIS S'BD SIS Do Do) 3

Options :



1. Dayananda Saraswathy
alosbinlelal ‘r’ot‘j‘cboge?

1. ®
2. Syed Ahmad Khan
RADO TS &P
2. %
3. Swami Vivekananda
F DDS0cy
38
4. Iswar Chandra Vidya Sagar
€35 hog Doy 6
4.9

Question Number : 84 Question Id : 5244764984 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For a specific job the mmimum wages are
DPR &ETEIS £ DSTren Jer eotrawn?
Options :

1. dependent on the gender of the employee
&850 ), Dorop TGO eotnod

1. ®

2. dependent on the work nature and the gender both
. e ‘R)S&,P.Do 206030 dorfo Toct.otdpd e3TPEDEC &otwodd

3. mdependent of the gender 1f the work 1s same

v 0 28er €03 Dorio Doeroto LI

4. 10% higher for males as compared to females

BETod JOY O 10% &)

4. ®

Question Number : 85 Question Id : 5244764985 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

NCW stands for
NCW e90€3?
Options :
1. National Council for Women

DNHES g’%ﬁ D6 &



2. National Committee for Women
20rve) 0 apadad) £

3. National Commission for Women
. ZPAAD QI LD
3 v

4. National Congress for Women
PN P03 DO &D

4. ®

Question Number : 86 Question Id : 5244764986 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

SUPW was recommended by ......
SUPW &0 256> 2arcoy 360?

Options :

1. Kothart Commission

o8 SO0

2. New Education Policy
€8 oy Je=do

3. Sachar Committee

Heed ¢

4. Malcolm Adiseshar Committee
AR 0 93&%:10:135 &)

4.

Question Number : 87 Question Id : 5244764987 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Operation blackboard is.....
e2DBND géﬁg €9063.....

Options :

1. Accessible education
e9030eeeS” ey Doy

2. Equality in Education
DesgeS” A0



3. Improving classroom infrastructure
SGAD (1O AFOE DELICAIFOR DEADGSEo

3.

4. Improving teachers Knowledge
ST TPIOIVR ZPPJ) DGO

Question Number : 88 Question Id : 5244764988 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Autism 1s a type of
38320 208 BERVD

Options :

1. Physical disability
F80¢ Peexso

1. ®
2. Sensory disability
palolalont) Qée_)go
2. %
3. Intellectual disability
28 Peogo
3.

4. Disability due to accident
QA0 S°ELTT PEVIO

4.%

Question Number : 89 Question Id : 5244764989 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For total development through education, we should-
DS T DOIPY DDYAS, Do A Bodrd?
Options :

1. give importance to reading
DEPAE Fa(S WG

2. give importance to writing
GE0E) Fra0e S @0l

2. %



3. give importance to art training
Sv° LS FrO0[S Dol

4. give importance to reading, writing along with art training
&% g0 e SEDco, TraDo Hod PO FrANE RS

4.

Question Number : 90 Question Id : 5244764990 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following disorder cause people to struggle with seeing the differences
between similar letters, numbers. objects, colours, shapes & patterns?
i)vciﬁ:;)?g 95070, VO, SNV, Gorew, e5PTreD & DTV

DG DFTPFIPOR BPELITE DBOK QN0D DEEP & $obd THS” D
Gori e €OAZOOB?

Options :
1. Visual processing Disorders
DerdS Fooh Gergdy
1.¢ o
2. Nonverbal Learning Disorders.
TS 923°(R o) e
2. % 2
3. Auditory processing Disorder.
esC.020 FFoNoh dargd
3.8
4. Multiple Disorder
. mg@é &wg&

Question Number : 91 Question Id : 5244764991 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Motto of the Stockholm conference was
FEF D R0y A0E), AP0
&

Options :

1. “Save the Earth’
‘B3P B8otiods’



2. “Only one Earth’

L v ‘208 B’
3. ‘Protect the Earth’
‘B ol
3. %8

4. *Conserve the Environment’
‘::mg;ﬁdwi)& HBB8.0908"

4. ®

Question Number : 92 Question Id : 5244764992 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The meaning of Universalisation of Primary Education 1s to provide
FOHE Doty ), FEAECE L) o BID eodotstio?

Options :

1. Education to all

90508 DSy
1. %
2. Education to all girls children
eIEDYOI0CSOS DSy
2. % W
3. Free and compulsory education to all children
YO0 &S BAED Byos Dy
3.8
4. Free and compulsory education to the children of 6 — 14 years age
6 - 14 2058070 DYV &S 0B ABy0E D
4.

Question Number : 93 Question Id : 5244764993 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first Committee to be constituted after independence by the Government of India
on Women'’s Education was

FCIoTPsdottto OIPVe DR PG DIBOB( DTN BVD EE
S0&?
Options :

1. Dr. Radhakrishnan Commission
m%cS Uvmvéa:gé HIBGS



2. The Mudaliar Commission
SA0GOAITE NS

2. ®
3. The Shri Sr1 Prakasa Committee
2 3 oo S
3. 8
4. Dr. Durgabai Deshmukh Committee
g6 cogreraw B3 s
4.9

Question Number : 94 Question Id : 5244764994 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The major solution to deal with climate change is to ----------------
TTPOOE SPENOR ) HEPIS PEPD DO Go ~---==-==-====-

Options :

1. ban all vehicles
@‘0& TEPTFOR Dadotdods

1. 8
2. 1nstall air conditioners
dawd otvGR RRYES Batod
2. % -
3. reduce emission of greenhouse gases
HSFTH TaD® DEdBOR0 Showod
3.
4. use traditional fuels like wood and charcoal
S BN %D Hotd FoNTPAL QOGSO &DATAosoc:
4. %

Question Number : 95 Question Id : 5244764995 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who propagated the theory of Emotional development?
DTS EHVO0E VTP DGO Verdo WFE?
Options :

1. Freud
roné



2. Jean Piaget

2D HoIrEeS
2. %
3. Vygotsky
DO
3. % bb
4. Goleman
BOarD
4. &

Question Number : 96 Question Id : 5244764996 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Physical development 1s
TS 0DBB VIO
Options :
1. Quantitative in nature
DODTEFBLE (20

2

Qualitative 1 nature
. r’ocavef%g coseybo
3. Retlective in nature

R CALIARNNA T
3. %

4. Continuous 1n nature
DB0e3 “’n)nge,j"&ﬁo

Question Number : 97 Question Id : 5244764997 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Kolhbergs theory which level signifies the absence of morality in the
true sense?
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The growth period which faces lot of stress and storm 1s...........
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Options :
1. Infancy
N3

2. Childhood

e°)(o
2. ®
3. Adolescence
SiPebilelat:)
3.
4. Adulthood
OIDGHADRY
4 %

Question Number : 99 Question Id : 5244764999 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Action research means
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Options :
1. A longitudinal research
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2. An applied research
90D50 DBF D



3. A research mnitiated to solve an immediate problem
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4. A research with socioeconomic objective
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Inductive logic proceeds from
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l. General to General
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